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20. (1) W% EA=EF.DA=DF,fil)l DE £HY¥ (23. (1) W6 PMQN &iEJ7%. 3k 4 F . R, BT L AB=CD, AB //CD, L/ADC =

4% AF. it i /AGD = 90°, Bl /ADE +
Z/DAF = 90°. .l 2y /BAF = /ADE, Jif )
£ BAF+ /DAF =90°, Bl / BAD = 90°. [ %
Wi J& ABCD J& F 47 04 i 9% . BF LA DY 4 9%
ABCD 4.

(2) W (1), { WA ABCD R4 JE, i U
BC=DA, /C=090". }} DA = DF, Jif L)
BC=DF.W% BF=4,CD =12, i CF =
BC—BF=DF —4. f£ RtADCF i, /) it &
¥ ,7% CF* + CD* = DF*, ff L (DF — 4)* +
12°=DF"*,fi#48% DF =20. ik DF & & 20.

21 (D) B BARMBWEAES 9+15% =
60 (44 ), ) 4 il B AY % E P S BT H D (3
HOMA 60—6—18—9—12=15(%4). ¥4 %
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(3) th iR, i 800><£:240,911Hﬁiﬁz132t¢

800 &% AP FE I H B(E % 50 9 A%
H 240.

# 4 CE,BD, K CE % BD F 4 H,% AB
FHO. B, 8 /DAE = /BAC =90, i
Pl ~DAE — /BAE = /BAC — /BAE, }J
/BAD= /CAE. %} AE=AD,AC=AB,
B LLACAE 2 ABAD (SAS). fif L CE =BD,
LACE=/ABD. ®} /ACO+ /AOC=90°,
~/AOC = /BOH, Jit Y /ABD + /BOH =
90°. X L/ ABD + /BOH + /CHB = 180°, if
L/ CHB=180°— (/ABD+ /BOH)=90°,
B CH | BD.®% P,Q,M,N 4 %% DE,
BC,DC,BE i s, Btk PM J2 ACDE K+

ik ,QN & ABCE ffyrf 4k, B PM=%CE,

QN:%CE,PM//CE. [ 2, 4% MQ=%BD,
2
2
PN=QN. AN PMQN 3. AN
CH | BD, ik PM | PN, B 14 i1 J% PMQN
REIETTE.

PN = - BD, PN //BD. ff i PM = MQ =

(2) WinJE PMQN i LY e KA 2 16.

~/DAB=90". fif Ll /PEN = /PAB, /ABP =
ZENP.X P R B AE M s, it L AP =
EP. TAAAPBXAEPN (AAS). fif Lk AB=
EN,Bl CD=AB=EN. fflk CD—CN =
EN—CN, Bl DN =CE. i} CM = DE, Jf
UL CM—CD=DE—CD,B DM=CE. ff A
DN = DM. N LADC = 90°, Ff L FD |
MN. fi LA FN=FM. fif Ll / FNM= /DMF. [
HFNM=_/ENP,f{ll/DMF=_/ABF.
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@ S5 RS, Bl A, EK BF,
CDZ T N. WK P LB AE v 5, Bt
UL AP=PE. #1(1),7 AB//CD,AB=CD,
FD | MN, i i /PEN = /PAB, /2 =
ZN. i L AAPB 2 AEPN (AAS). Jif L
AB=EN, Bl CD =AB =EN. fifll CD —
DE=EN —DE, Bl CE=DN. ¥ DE=CM, Jif
Il DE + EM = CM + EM, B} DM = CE. fi
U DN =DM. B % FD | MN, ff . FN =
FM. i LA LN = /1, B0 /1 = Z2. B LU

/Z DMF =/ ABF.

22. (1) ANA'B'C" i iR .
(2) ANA"B'C" 4 & i 75
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24. (1> A% AB=AD.CB=CD,CA =CA, Jif
L AABC 2 AADC (SSS). fif L ./ BAC =
~DAC. X AF = AF, Jif Yl AABF 2 AADF
(SAS). ff Yk LAFB= S/ AFD. H} /AFB =
~CFE il ~AFD= /CFE.

(2) Wi AB//CD, it LA < BAC = /ACD. i
(1), % £BAC = /DAC, ff Yl L/ DAC =
ZACD. ikl AD=CD. X AD =AB,CB =

CD,Ji Ll AB=CD = CB = AD. Jf L\ Wil JE
ABCD RZZJE.

(3) ¥4 BE_| CD W, ~/EFD=_/BCD. ¥t i
T (2,8 UkJE ABCD 23, i BC=
CD, /BCF = /DCF. X CF = CF, fif U4
ABCF £ ADCF (SAS). ff I ~/CBF =
~/CDF. X /EFD = /BCD, /BED =
~BCD+ /CBF, /CEF= /CDF+ /EFD,
Brl ~BED = /CEF. X /BED + /CEF =
180°, if LA~ BED =~ CEF=90°, Bl BE | CD.

(2) ANABF HJHRA B, ik s F #E FM |
AB T H M,/ FMA =90°. 8 7& .14 AB=
OC=3,BC=0A=4. A HMWih, ADEF J}IE
I Mk e OABC M, Bk AF=AD,
~ DAF = 90°, /ABC = 90°. fif L\ /DAB +
~/FAM = 90°, /DAB + /ADB = 90°, HJ
~/ADB= /FAM. X /ABD = /FMA =90°,
fiF L ANABD 2 AFMA (AAS). Jif Ll FM =

1y 3 9
AB=3. fifA S/\.—\BF=EAB i FM:? SN,
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(3) m N 4 5 1 j% #2147 . B % ABEF

H%MZ A%, AH BE=EF % BE =BF
K EF=BF =#HERL. 2 £F#T O &
BE=EF,% % B 55D £48,m=4;% %
BESEDARESLN, wEO, 5 E #EQL
DB F £ Q. % AADBXL ADEQ (AAS), #f
A DQ=AB=3. B # BE=EF,EF =DE, ft
vA DE =BE. X EQ_| DB, #f & BQ=DQ =
3.X BC=4,0D ## BC E—%,2A&KRT
#e R ;@ % BE=BF ., BQ®. H % BE=BF,
¥t vA /BEF = /BFE. W # %, #% /DEF =
/ AFE=90°, i v\ / DEF — / BEF = / AFE —
/ BFE, % /DEB = /AFB. X DE = AF,
BE = BF, #f . ADEB 22 AAFB (SAS). #f
A DB=AB=3. fi A CD=BC —BD =1, B
m=1;Q #% BF=EF,« B Q. i & F #

1
BN:?ABf

FN 1 AB ¥ & N, % 4% ANABD £ AFNA
(AAS),#ivA AN=DB. B EF=BF,EF =
AF ,JivA BE=AF. X FN | AB,#tvA AN =

3

3
=5 FIt vA DBZE. Fr vk CD=BC—
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DB=- 8 m—— Lk m 1A 4K K
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